2019 4¢ 1 A {WHb4E i &
45 rp AT R KR IE K BRR LR

T %I)r"”

2019$1ﬂ, A4 3 I 40 A5 o A EROR KR, A
R K AKIRE 10 A (2 BER)D , H T AKKIE 30 4,

(—) B &AL

1. He R K AKR : 3 E A AR & A AR K B B2 100 K4
WE 1NN ELHAT KA ERFFRE HAE T 0.5 KA,

2. WU AKIE: B&RBELEMGN, ERMAFXE. BTEEL
REEFM, AR WILARX (&R X,

(=) M E

LR AKE: HMITE R (HERAFEREFE)
(GB3838-2002) *& 1 WyEATE (23%, hFFAERI) |
R2MAFITE (5T fEk3IWMEEFETE (3370 ,
61 I,

2. T AKIE: WIHIME N (T ARERE) (GB/T
14848-2017) = 84 23 T,

= VNIRER A

(—) MR AKIR

RIE (M EAFEFRERE) (GB 3838-2002) FHATITAH
FEARTE # R O R AR L W 7 % GRAT) ) (3R (2011)
22 ) BATIHN, M EFEE R 1 WEATE # 20 T (K&,
SRMEAMEHLSSGITN), A RTE . FEITEH BTN,



(Z) BT AKIE

BB (T AREARME) (GB/T 14848-2017) , XA % H
F IR E AT I

=, NER

(—) BREFAR

A H W E 40 & R AR R A KIEIRARE X 97.5% (FE I
1 .

(Z) R AKIR

10 Ak AKIBE S K BT K A7, IAARE A 100%.

(=) HTAKE

30 MU T AR, 29 M T AAKIRL B R ARAE, KAR
R 96. % KK O TLELARATAIVEK, BTG EY A HR
H (TELAKEREKR)

#ix:

L SR USRI, S FaHE N 7K W 2 AR — € BUKEURE (KN H—
R T 1000 A HIFET S & FIARERIZK A .

2. R U AGKIER KX ] s R AKIERIEK, T R AR K, K
IREEAARK] AL BE R CEREUCHK DAARE) IER)E, BN ERBUKRGE MUK,



F&1 2019 F£1 AR ER N EFTRAKKEREKFIRR
PS5 | AR KR4 R IKIEHRAY | BARtENL | AR TEAR R AR AL B e
1 HFET i K HhF K EhR -
2 JE LT BEVAT 7K HhF K EhR -
3 ZFEHTH K HhF K EhR -
4 RE G P K HhF K bR -
5 ZEET | PO EKE HhF K EhR -
6 I i K HhF K AR -
7 i SENT] R K HhF K AR -
8 TRE T PR PR HhF K EhR -
9 TRE T FE K HhF K AR -
10 W T KIRE K K AR -
11 | AFKEN K R K EhR -
12 | AxREN B=K] R K bR -
13 | AKX £/ H R 7K L7 -
14 | AFKET SHAK Hh R 7K EhR -
15 JE LT JBsBAKT Hh R 7K EhR -
16 JE LT PSRBT Hh R 7K bR -
17 JE T e E K Hh R K EhR -
18 FE i KB R K AR -
19 LT Kk x| R K PEY /7N -
20 FE T IR R K AR -
21 I i Al R K AR -
22 i SEAT] e HR K bR -
23 i S=Nt] B R K AR -
24 & i #HY Hh R 7K EhR -
25 TR € i —HR Hh R 7K bR -
26 | kEOm we Ik Hh R 7K EhR -
27 kRO Bk £ R K bR -
28 | FRFEITW v H R 7K LR -
29 | SREOW JEEL H R 7K R HEREL (0,14 %) RAtK
30 AR T HRK—] R K AR -
31 ARABE T HRKZT HR K bR -
32 AR T HRK=T R K AR -
33 AR T H kKT R K AR -
34 AR T HRKAT HR K EhR -
35 JER 5 7T —KJ R K EhR -
36 JER 37 T KT Hh R 7K EhR -
37 YT | FFRX KT | HRK bR -
38 YT | FFRX KT | HRK EhR -
39 fisK FERHAKT R K bR -
40 fig K i KK R K IEAR -




